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B HCES AR AL R6 T A ElallEss 11 1 1.65 2% 49 897 mEEt A | AR 269 30% 11-1 i
A A R6 T 1 E[AIIESs 11 1 1.80 S 49 662 mhitka | FR 198 30% 11-1 i
A A R6 T 1 E[AIIESs 11 1 1.90 S 49 699 mEEt A | AR 209 30% 11-1 i
B AR AR AL R3 TG 2 R Je) 1A 11 1 0.95 2% 50 526 mhEa | Bk 157 30% 11-1 fi
B AU AR AL R3 TG 2 R ElwllEs 11 1 4.76 2% 50 2,635 mEEa | Bk 790 30% 11-1 iian)
B AU AR AL R3 TG 2 R ElwllEs 11 1 2.30 S 50 859 mhEa | Bk 257 30% 11-1 iian)
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R A HGE AR AL S RS 1 2 Ae) 1A 88 7 3.23 (VS 60 1,384 B4 VLN 415 30% 88-7
1 N AU AR AR A R8 o e e 1A 88 7 2.33 2% 58 1,465 REEIR A VAN 439 30% 88-7
1 N AU AR A R9 T 01 U e 1A 88 7 2.32 L)% 58 970 TREER A FR 291 30% 88-7
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1 KN G AR AR A R4 T 0 U ElwlIES 89 1 11.00 2% 54 6,514 REEIR A FR 1,954 30% 89-1
1 KNG AR A R4 T 0 U ElwlIES 89 1 10.00 2% 54 5,922 TREEIR A FR 1,776 30% 89-1
1 KNG AR A R6 T 0 U ElwlIES 89 1 15.40 2% 54 9,119 REEIR A FR 2,735 30% 89-1
1 KN G AR AR A R6 T 0 U ElwlIES 89 2 8.30 2% 38 3,625 REEIR A FR 1,087 30% 89-2
1 KNG AR A R6 o I ElwlIES 89 2 3.10 b/)% 38 928 BREEIR A LIRS 278 30% 89-2
1 EN U AR A R6 o R E(wlIES 89 2 1.50 b/)% 37 439 BREEIR A LIRS 131 30% 89-2
TN S AR A R6 o IR 1A 89 2 0.70 2% 54 414 B e o FIR 124 30% 89-2
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R A HGE AR AL S RS 1 2 Ae) 1A 90 2 3.31 2% 74 2,541 B4 VLN 762 30% 90-2
R HGE AR S RS R e U Ae) 1A 90 2 0.34 (VS 50 127 B4 VNN 38 30% 90-2
R HGE AR AL S RS 1 2 Ae) 1A 90 2 3.35 (VS 48 1,214 B4 VLN 364 30% 90-2
R A HGE AR AL S RS 1 2 Ae) 1A 90 2 2.19 2% 53 1,275 B4 VLN 382 30% 90-2
1 N AU AR AR A R8 o e e 1A 90 2 3.30 b/)% 50 1,233 REEIR A VAN 369 30% 90-2
1 N AU AR A RS o e e 1A 90 2 2.14 2% 51 1,205 REEIR A VRN 361 30% 90-2
1 N AU AR A R8 T 01 U e 1A 92 1 0.61 2% 57 378 TREER A FR 113 30% 92-1
1 N AU AR AR A R8 T 0 U e 1A 92 1 0.15 b/)% 57 61 TREER A FR 18 30% 92-1
1 N O AR A R8 T 01 U e 1A 92 1 0.53 2% 65 367 TREER A FR 110 30% 92-1
1 N AR AR A RS T 01 U e 1A 92 1 1.31 b/)% 77 660 TREER A FR 198 30% 92-1
1 KN G AR AR A R8 T 0 U ElwlIES 92 2 2.55 b)% 76 1,274 REEIR A FR 382 30% 92-2
1 KNG AR A R8 o I ElwlIES 92 2 0.19 b)% 49 69 TREEIR A LIRS 20 30% 92-2
1 KNG AR A R8 o I ElwlIES 92 4 0.79 2% 72 592 REEIR A LIRS 177 30% 92-4
1 KN G AR AR A R8 o I ElwlIES 93 1 0.42 2% 78 335 REEIR A LIRS 100 30% 93-1
1 KNG AR A RS o I ElwlIES 93 2 0.37 2% 53 215 BREEIR A LIRS 64 30% 93-2
1 EN U AR A RS o R E(wlIES 93 2 0.50 b/)% 48 181 BREEIR A LIRS 54 30% 93-2
TN S AR A R8 o IR 1A 93 2 0.27 2% 60 174 B e o FIR 52 30% 93-2
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